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Module — 1 T M| L

Q.1 |a.

Define the following terms: . 05| L1
i) Dryness fraction 3
i1) Saturation pressure .
1) Saturation temperal ure
iv) Latent heat =
V) Degree of superheat

CO1

With a neat. sketch explain the concept of stream formation along with T-h | 07 | L2
plot,

CO1

A steam at 10 bar and dryness 0.98 1 receives 140 kJ/k
What is the enthalpy and ten
k/kg°C.

08 | L3

he same pressure.

CO4

OR

Q.2 |a.

With a neat sketch, explam the working. of thermal power plant ‘ 10 | L2

CO1

What are wind mllls‘7 With neat sketch explain the prmmple of operation | 10 | L2
of horlzontal axis wind mill. )

CO1

Q.3 |a.

| 1) Knurling

Explain the following 1athe~v,opefat10ns w1th aneat sketch. 10 | L2
i) Taper turning : e

iii) Thread cuttmg

CcoO2

What is drllhn% 71; 'rleﬂy discuss the ollowmg drilling operations : 10 | L2
i) Counter boring
i1) Counter sinking

ii1) Tapping.

CO2

OR

Q4 | a.

Differentiate between upmilling and down milling operations. _ 7 | L2

CO2

What is Milling‘?‘k Mention the various milling operations. 3 |L2

CO2

What a block diagram, explain the basic components of CNC machine. | 10 | L2
Mention its advantages and disadvantages.

CO2
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Module - 3
Q.5 Explain the working of 4 — stroke petrol engine with neat sketches 10 | L2 | CO2
A gas engine working on a 4 — stroke cycle has a cyhnder of 250mm | 10 | L3 | CO4
diameter, stroke 450mm and is running at 180rpm. Its mechanical
efficiency is 80% when the mean effective pressure 1s 0.65MPa.
Determine :
i) Indicated power
ii) Brake power
i) Friction power
iv) Brake thermal efficiency ~
Take CV of fuel as 42000kJ/kg and ﬁJel"’consumptlon as 3 kg/hour
__OR ‘
Q.6 What is refrigeration? W1th a neat sketch, explain Vapour Compressmn 10 | L2 | CO2
Refrigeration (VCR) system :
Define air condltlomnggExplam the working of &indow type room air- | 10 | L2 | CO2
conditioner with neat sketch. :
~ Module - 4
Q.7 ) nopen and cross belt drlves 5| L2|CO3
8 | L3 | CO3
7 | L3 | CO4
i) Speeds of intermediate gears -
i) Speed and direction of the last follower:
i) Train value.
Q.8 What is weldmg’é “““ Explam the prm p e of Arc weldmg w1th a necessary | 10 | L2 | CO3
sketch. ™
Dlstlnguish between TIG an MIG welding. 6 | L2 | CO3
_Ex,pkl}iam the method of soldeflng. ; 4 | L1 |CO3
| Module =5 _
Q.9 Explain the com nts of electr d hybrid vehicles with neat block | 10 | L2 | CO3
diagrams.
Mention the advantages and disadvantages of electric vehicles and hybrid | 10 | L2 | CO3
vehicles.
z OR
Q.10 Write short notes on open loop and closed loop mechatronic systems. 10| L2 | CO3
Explain the app_liﬁ:ations of Robots in the following domains of a |10 | L2 | CO3

manufacturing industry.

i) Material handling

ii) Processing

111) Assembly and mspectlon
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